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QUESTION 1

A storage administrator is preparing to install the Hitachi Command Suite software. Which three base installation
components are always installed or removed together on the management server? (Choose three.)

A. Hitachi Command Suite Common Component
B. Host Data Collector

C. Storage Alert Collector

D. Device Manager server

E. Device Manager Agent

Correct Answer: ABD

QUESTION 2

Your customer complains that they cannot display host information for a certain host within Hitachi Global Link Manager
(HGLM). Other hosts are accessible. What should you verify?

A. the customer\\'s access permissions

B. the HGLM license capacity

C. the status of the Common Component service
D. the disk space on the HGLM server

Correct Answer: A

QUESTION 3

The storage administrator of a VSP must create an LDEV using Hitachi Device Manager. The VSP has already been
selected in the Subsystems screen. Which option is available from the General Task menu to perform this task?

A. Create LDEV

B. Create Volumes
C. Allocate Storage
D. Storage Navigator

Correct Answer: B

QUESTION 4
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Which two statements regarding the Hitachi Dynamic Link Manager Round Robin algorithms are true? (Choose two.)
A. The Round Robin algorithm distributes 1/0s by alternating requests across two data paths.
B. The Round Robin algorithm distributes I/Os by alternating requests across all available data paths.

C. The Extended Round Robin algorithm distributes I/Os to paths depending on whether the 1/O involves sequential or
random access.

D. The Extended Round Robin algorithm distributes sequential I/Os to a set of paths and random I/Os to another set of
paths.

Correct Answer: BC

QUESTION 5

A customer is using the Hitachi Command Suite (HCS) to manage their storage environment comprising VSPs, HUS
and HNAS platforms connected to Linux and Windows servers. Several of the HUS systems, as well as competitors
arrays are virtualized behind the VSPs. Which three functions does the HCS provide in this environment? (Choose
three.)

A. common GUI

B. server virtualization software

C. integration of all third-party arrays in a global storage management framework

D. single management tool for all Hitachi storage systems and virtualized storage environments

E. common CLI

Correct Answer: ADE
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